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The line with slope m and y-intercept b is given by
v=mxtbh,

the slope-intercept form of a line.
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The ling with slope m passing through the point (x;, v} is given by
y =y =mix—x), orequvalently,
vy=mlx—x) +w,

the point—slope form of a line.
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@ A small swimming pool is being emptied by a pump that removes water at a constant rate.
After 1 hour the pool contains 5000 gallons, and after 3 hours it contains 3000 gallons.

(a) How fast 1s the pump removing water?
(b) Find the slope—intercept form of a line that models the amount of water in the pool.

Interpret the slope.
(¢) Find the y-intercept and the x-intercept. Interpret each.
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The slope mi of the line passing through the points (x,, v;) and (x,, y;) is

_rise _ y —

N Xy - ¥,

where x; # x5. That is, slope equals rise over run.

The line with slope m and y-intercept b 15 given by
y=mx+ b,

the slope-intercept form of a hne.

The line with slope m passing through the point (x;, v ) is given by
y =y =mix—x), orequivalently,
y=mlx—x) +w,

the point—slope form of a line.



